1.

RE7AN B EHERICLIDRDZELS 01

(1)

(3)

HOERD I L (4) BT X, (SH1740%, Afk2930F, B33 408, CHi55)

fla)=a> -2 +50+9 % 2 —2 THI%. (2 fla)=a2*—224+1% 2+1 CH3.
fl)=a3+322+3x+1 % 2 —8 TH 3. 4) f(@)=2*% 2+3a—-1TH2.
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2.

(1)

(3)

HOERD X L 4) BT X (SH1540F, AR25 308, B35 408, CH54)

flx)=a3—-222 —Tx+12 % x — 3 TH 5. 2 f)=2—-2*+2 % x+1 THA3.
flx) =82 — 1222+ 62 —1 % 2 — 6 TH 5. 4) f@)=2*Z r+a®>—1TH 2.
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R$T7AL X EHBEEICLDRDZELS 01 BERH

HOERD I L (4) BT X, (SH1740%, Afk2930F, B33 408, CHi55)

* AHEERERD
x DX flo) Z, 1 XXz —a TH->LLEZDRDE, f(a) TH5S.

1) fla)=2>-22+5x+9 % -2 TH 3. (2 fle)=2*-22+1% x+1 TH 3.
f2)=2%-22+5x2+9 f(=1) = (=1)*—(-1)2+1
=8-4410+49 =1-1+1
=23 =1
3)  f@)=23+322+3x+1% -8 TH 5. (4) f(x)=2*% 2+3a—1TH2.
fl@)=(x+1)3 &b, r+3a—1=0 & z=-3a+1
f8)=(8+1)3 Lo THBE LD,
f(=3a+1)=(-3a+1)*
=93
= (3a —1)*
=729

=81a* — 108a® 4+ 54a% — 12a + 1
YR IE TIHEM T

(a+b)* = a* + 4a3b + 6a%b* + 4ab® + b*
DA RXR—=.
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2. RVERDK. LU 4)ZEMAE L. (SHk15740F, A2 308, B33 408, C#545)

(1) f@)=a3-222-Tx+12 % -3 TH 5. 2 f)=2—-2*+2 % x+1 THA3.
F(3)=3%—2x 32— Tx3412 F=1) = (1P — (“1® + &
=27-18-21+12 =-1+1-1
=0 =—-1
(3)  flx)=823—1222+6x—1% x—6 TH 5. 4)  fle)=2*% z+a®>-1TH 2.
flx)=02x—-1)2 &b, r+a>-1=0 & z=-a’+1
f(6)=(2x6—1)> Lo THRBGEE LD,
f(=a*+1) = (—a® + 1)*
=113
= (@ -1y
=1331

=a® —4a% + 6a* —4a?2 + 1
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